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Advance Accounting 

mPprj ys[kkadu 
Bachelor of Commerce (B.Com-17) 
Second Year, Examination-2019 

 
Time: 3 Hours        Max. Marks: 80 
 

Note:- This paper is of Eighty (80) marks divided into 
three (03) Section A, B and C. Attempt the question 
contained in these sections according to the detailed 
instructions given therein.  

uksV%& ;g iz'u&i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ 
[k.Mksa d] [k rFkk x esa foHkkftr gSA izR;sd [k.M esa fn, 
x, foLrr̀ funsZ'kksa ds vuqlkj gh iz'uksa dks gy djuk gSA 

Section-A ¼[k.M&d½ 

(Long Answer Type Question) ¼nh?kZ mÙkjksa okys iz'u½ 

Note:-  Section ‘A’ contains four (04) long-answer-
type questions of Nineteen (19) marks each. 
Learners are required to answer any two (02) 
questions only.     (19×2=38) 
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uksV%& [k.M ^d* esa pkj ¼04½ nh?kZ mÙkjh; iz'u fn;s x;s gSaA 

izR;sd iz'u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f'k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz'uksa ds mÙkj 

nsus gSaA 

1. What journal entries are passed in the books of 

landlord and lessee regarding royalties? 

 Hkw&Lokeh  vkSj iV~Vsnkj dh iqLrdksa esa vf/kdkj “kqYd 

ds lEca/k esa dkSu lh tuZy izfo’V;k¡ dh tkrh gSA 

2. From the following particulars prepare the 

statement aggains and deficiency account of 

Ramesh of Allahabad who is an insolvent 

detor. 

 Unsecured creditors Rs.15,050 creditors party 

secured Rs.19,080 holding security of the value 

of Rs. 18,100 which is estimated to realize only 

Rs.6,000) Profential creditors Rs. 500 bills 

receivable discounted Rs. 2,060 Cupon which it 

is estimated that there will be liability of 

Rs.280) Stock in trade Rs.10100 (estimated to 

raelies Rs.8,000) book debts : good Rs.7,860 

doubtful and bad Rs. 650 (estimated to realize 

Rs.5,500) cash in hand Rs.2. 
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 He started business five years ago with a 

capital of Rs. 25,000. The trading after 

changing interest on capital at Rs. 1,000 per 

year resulted in a profit of Rs. 602 for the first 

year and losses of Rs.370, Rs.450, Rs.500 and 

Rs.700 for the subsequent years. His drawings 

were at the rate of Rs.900 a year and there 

was a speculation loss of Rs. 1,590 during the 

whole period of five years. 

 fuEufyf[kr lwpukvksa ds vk/kkj ij bykgkckn ds 

jes”k tks fd fnokfy;k nsunkj gS dh foRrh; fLFkfr 

dk fooj.k i=k vkSj deh ds fglkc dk [kkrk 

crkb,% 

 vjf{kr ysunkj 15]050 :i;s va”kr % jf{kr ysunkj 

19]080 :i;s ¼ftlds ikl 18]100 : dh dher dh 

izfrHkwfr;k¡ gS ijUrq budh vuqekfur izkI; jkf”k ]6000 

:Ik;s gS½ iwokZf/kdkj ysunkj 500 :I;s ds gS 2]060 

:i;s ds izkI; fcyksa dks Hkquk;k x;k gS vkSj ;g 

vuqeku yxk;k tkrk gS fd bl lEca/k es 280 :I;s 

ds nkf;Ro gksxsa] O;kikfjd jgfr;k 10]010 :i;s dk 

gS ¼vuqekfur izkI; jkf”k 8]000 :i;s½ iqLrdh; 
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nsunkj vPNs nsunkj 7]860 :i;s lafnX/k ,oa cqjs 

_.k 650 :i;s ftl ij 178:i;s vuqekfur izkI; 

jkf”k gS ^Hkwfe vkSj Hkou 8]000 :i;s ¼vuqekfur izkI; 

jkf”k 5]000 :i;s½ e”khu vkSj IykV 12]500 :i;s 

¼vuqekfur izkI; jkf”k 5]500 :I;s½ udn jksdM+  

2 :i;s gSA 

 mles 5 o’kZ igys viuk O;kikj 25]000 :i;s dh 

iwath ls “kq: fd;k FkkA 1]000 :i;s izfro’kZ iwath ij 

C;kt yxkus ds ckn mls izFke o’kZ esa  602 #- dk 

ykHk gqvk vkSj ckn okyh o’kZ esa  370 :i;s ] 450 

:i;s] 500 :i;s vkSj 700 :i;s dh gkfu;k¡ gqbZA 

mlus 900 :i;s izfro’kZ ds fglkc ls vkgj.k fd;s Fks 

vkSj 5 o’kZ dh iwjh vof/k esa lV~Vs dh gkfu 1]590 

:i;s FkhA 

 

3. What are the different types of amalgamation? 

What entries are passed in the books of 

Transferee company is case of amalgamation 

in the nature of purchases?  
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 ,dhdj.k ds fofHkUu izdkj D;k gSa\ Ø; dh izdf̀r 

okys ,dhdj.k dh n”kk esa gLrkUrjh dEiuh dh 

iqLrdksa esa D;k izfof’V;ka dh tkrh gS\ 

 

4. A,B and C are partners sharing profits and 

losses in the ratio of 3:2:1 their balance sheet 

as on 31st march 2016 was under: 

 Capital of 

Liabilities 

Amount Assets and and 

properly 

Amount 

Creditors 95,000 Bank 12,500 

Bills payable 25,000 Debtors     8,000  

Bank overdraft 60,000 Provision  2,500 77,500 

Capital  Stock  

A: 2,00,000 

B: 1,50,000 

C: 1,25,000 

 

 

 

47,5,000 

Motor Loans 

machinery 

1,25,000 

40,000 

1,75,000 

 

 

Bank Loan 

 

3,45,000 

Buildings  

Land 

2,25,000 

3,45,000 

 10,00,000  10,00,000 

B.    Retires on that date subject to the following 
conditions: 
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(i) Goodwill of the form is to be valued at 

Rs. 90,000 

(ii) Machinery would be depreciated by 

10% and motor ban by 15%. 

(iii) Stocks would be appreciated by 20% 

and building by 10%. 

(iv) The provision for doubtful debts would 

be increased by Rs.9750. 

(v) Liablity for worker`s compensation to 

the extent of Rs.8250 would be created. 

Pass necessary journal entries also 

prepare profit and loss adjustment 

account, capital accounts of the 

partners and the new balance sheet. 

 v] c vkSj l 3%2%1 ds vuqikr esa ykHk vkSj gkfu;ksa 

dks foHkktu djrs gq, lk>snkj gSA  

 31 ekpZ 2016 dks vkfFkZd fpV~.k fuEufyf[kr Fkk% 
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iw¡th vkSj nkf;Ro /kujkf”k lEifr;ka vkSj tk;nkn /kujkf”k 

ysunkj 

ns; foi= 

cSad vf/kfod’kZ iw¡th 

v& 2]00]000 

c&1]50]000 

l& 1]25]000 

cSad _.k 

95]000 

25]000 

60]000 

 

 

 

4]75]000 

3]45]000 

cSad  

nsunkj 8000 

izko/kku 2500 

jgfr;k 

eksVj oSu 

Hkou 

 

Hkfe 

12]500 

 

77]500 

1]25]000 

4]0000 

1]75]000 

2]25]000 

3]45]000 

 10]00]000  10]00]000 

  mDr frfFk dks *c* fuEu “krks± ij vodk”k xzg.k djrk gSA 

¼d½ QeZ dh [;kfr dks 90]000 :i;s eq[;kfdr fd;k 

tk;sxkA 

¼[k½ e”khujh ij 10izfr”kr rFkk eksVj cSu ij 15 izfr”kr 

ãl fd;k tk,xkA 

¼x½ LVkWad ij 20 izfr”kr rFkk Hkou ij 10 izfr”kr 

vfHkof̀) fd;k tk,xkA 

¼?k½ lafnX/k _.kksa ij izko/kku 9750 :i;s ls c<k fn;k 

tk,xkA 

¼M½ deZpkfj;ksa ds {kfriwfrZ ij nkf;Ro dk fuekZ.k 8250 

:i;s rd fd;k tk,xkA  
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 vko”;d jkstukepk izfof’V;k¡ dhft,A 

 ykHk gkfu lek;kstu [kkrk lk>snkjksa ds i¡wth [kkrs 

vkSj u;k vkfFkZd fpV~Bk cukb,A 

Section-B ¼[k.M&[k½ 

(Short Answer Type Question)@¼y?kq mÙkjh; okys iz'u½ 

Note:-  Section ‘B’ contains eight (08) short answer 

type questions of Four (04) marks each. 

Learners are required to answer any four 

(04) questions only.   (8×4=32) 

uksV%&  [k.M ^[k* esa vkB ¼08½ y?kq mÙkjh; okys iz'u fn;s 

x;s gSaA izR;sd iz'u ds fy, vkB ¼08½ vad 

fu/kkZfjr gSaA f'k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ 

iz'uksa ds mÙkj nsus gSaA 
1. What is departmental accounting and what is 

its need? 

 foHkkxh; ysa[kkdu D;k gS rFkk >kadh vko”;drk D;k 

gS\ 

 
2. What is hire purchases system? Give its 

merits? 
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 fdjk;k Ø; i)fr dk D;k vk”k; gS\ blds ykHk 

crkb,\ 

 
3. What do you mean by for future of shares? 

 va”kks ds gj.k ls vki D;k le>rs gSa\ 
 
4. What is meant by debenture? state any two 

characteristics of a adventure? 

 _̀.kifr dk D;k vFkZ gS\ _.ki= dh dksbZ nks 

fo”ks’krk,a crkb,\ 

5. Find out the amount of claim of loss from stock 

from the following information: 

 Fire broke out on 1st Sep 2015. Opening stock 

on 1st April 2015 was of Rs.5,000. Purchases 

during 2016 upto date of fire were Rs.100000. 

Manufacturing expenses of this period, were 

Rs. 3,00,000. Proprietor used goods worth 

Rs.3000. for his personal purpose. 

 Sales upto 1st Sept. 2015 amt. Rs. 2,00,000 

salvaged stock is valued at Rs. 7,000 rate of 

across profit on cost of sales last year is 25%. 
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 fuEukfdr lwpuk ds vk/kkj ij jgfr;k dh gkfu ds 

nkos dh jkf”k fudkfy,A 

 1 flrEcj 2015 dks vkx yxhA 1 vizSy 2015 dks 

izkjfEHkd jgfr;k 50]000 :i;s FkkA 2015&16 es 

vfXu yxus dh rkjh[k rd Ø; 1]00]000 :i;s ds 

FksA bl vof/k ds fuekZ.k O;; 30]000 :i;s Fks 

ekfyd us vius futh iz;ksx esa 3]000 #- dk eky 

yxk;kA  

 1 flrEcj 2015 rd dh fcØh 2]00]000 :i;s dh 

FkhA 7]000 :i;s dk eky tyus ls cpk fy;k x;kA 

xro’kZ dk lady ykHk izfr”kr fcØh dh ykxr dk 

25 izfr”kr gSA 

6. What are the various methods of valuation of 

shares? Explain. 

 va”kks ds ewY;kadu dh fofHkUu fof/k;kWa D;k gSa\ O;k[;k 

dhft,A 

 

7. Explain the super profit method of valuation of 

goodwill. 

 [;kfr ds ewY;kadu dh vf/kykHk iz)fr dh Li’V 

dhft,A 
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8. State the main objectives of account between. 

 iqufuekZ.k ds izeq[k mís”; crkb;sA 

 

Section-C ¼[k.M&x½ 

(Objective Type Questions) / (oLrqfu"B iz'u)  

Note:-  Section ‘C’ contains ten (10) objective type 

questions of One (01) marks each. All the 

questions of this section are compulsory. 

     (10×1=10) 

uksV%&  [k.M ^x* esa nl ¼10½ oLrqfu"B iz'u fn;s x;s gSa] 

izR;sd iz'u ds fy, ,d ¼01½ vad fu/kkZfjr gSaA bl 

[k.M ds lHkh iz'u vfuok;Z gSaA 

Choose the correct Option :  
lgh fodYi pqfu;s % 

1. Company act is: 

 (a) 1932  (b) 1956 

 (c) 1872  (d) 2013  

 fuEu esa ls dkSu lk dEiuh vf/kfu;e gSA 

 (a) 1932  (b) 1956 

 (c) 1872  (d) 2013  
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2. Premium on redemption of debentures a/c is: 

 (a) Assets  (b) Liability  

 (c) Expenses (d) Revenue 

 _.kir “kks/ku fizfe;e [kkrk fuEu es ls D;k  gSA 

 (a) lEifr  (b) nkf;Ro 

 (c) O;;  (d) vkxe 

3. Which of the following in profit and loss 

appropriation A/c. 

 (a) Provision for income tax 

 (b) Provision for dep. 

 (c) Provision for doubtful debts 

 (d) Contribution to general Ras. 

 fuEu esa ls ykHk gkfu fu;kstu [kkrs es dkSu lh en 

fn[kkbZ tkrh gS% 

 (a) vk;dj ds fy, izko/kku 

 (b) ál ds fy, izko/kku 

 (c) lafnX/k _.k ds fy, izko/kku 

 (d) lkekU; Lo;a esa fd;k va”knku 

4. The main object of amalgamation is: 

 (a) To bring economy in expenses 

 (b) To facilities distribution  

 (c) To eliminate competition 

 (d) All of the above 
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 ,dhdj.k dk eq[; mís”; fuEu esa ls D;k gS 

 (a) O;;ksa es ferO;f;Rkk ykukA 

 (b) forj.k esa lqxeykuk A 

 (c) izfrLinkZ dk rki djukA 

 (d) mi;qDr lHkhA 

5. When one company goes in liquidation and a 

new company is formed to take over the 

business of the company which goes in 

liquidation this is called: 

 (a) Amalgamation 

 (b) Absorption 

 (c) External reconstruction  

 (d) International Reconstndes 

 ,d dEiuh dk lekiu gksuk vkSj bls ,slh nwljh 

dEiuh dks cspuk ftldk fuekZ.k bls Ø; djus ds 

fy, gh fd;k x;k gS fuEu esa ls D;k dgykrk gSA 

 (a) ,dhdj.k 

 (b) laofy;u 

 (c) ck) iqufuekZ.k    

 (d) vkUrfjd iqufuekZ.k 
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6. Depreciation is allocated: 
 (a) On times ratio 
 (b) On sales ratio 
 (c) On equal ratio 
 (d) None of above 
 gkl dh fuEu es ls dSls foHkkftr fd;k tkrk gSA 
 (a) le; vuqikr esa 
 (b) fcØh vuqikr esa 
 (c) leku vuqikr esa 
 (d) buesa ls dksbZ ugha 

7. When winding up of a company is made by the 
court it is called: 

 (a) Compulsory liquidation 
 (b) Voluntary liquidation 
 (c) Liquidation under the supervision of 

  the court 
 (d) Creditor`s voluntary winding up 

 Tc U;k;ky; }kjk dEiuh dk lqekiu fd;k tkrk gS 

rks mls fuEu esa ls D;k dgrs gS % 

 (a) vfuok;Z lqekiu 

 (b) ,sfPNd lqekiu 

 (c) U;k;ky; ds fujh{k.k esa lqekiu 

 (d) ysunkjksa ds LosPNk ls lqekiu 
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8. Freight is shown in the: 

 (a) Debit side of voyage a/c 

 (b) Credit side of voyage A/c 

 (c) Balance sheet  

 (d) None of these 

 

 HkkMs dks fuEu es ls fdlesa fn[kk;k tkrk gS 

 (a) leqnzh ;k=k [kkrs ds MsfcV i{k esa 

 (b) leqnzh ;k=k [kkrs ds ØsfMV i{k esa 

 (c) vkfFkZd fpV~Bs esa 

 (d) buesa es dksbZ ughaA 

 

9. The gross profit of business being Rs. 2,00,000 

and the amount of loss profit Policy of being 

Rs.1,50,000 then the claim for loss Rs. 20,000 

will reduce to. 

 (a) 12,000  (b) 15,000 

 (c) 20.000  (d) None of these 
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 ,d O;kikj dk ldy ykHk 2]00]000 :i;s ,oa 

ykHk&gkfu dh ikWfylh dh jde 1]50]000 :I;s gS 

rc 20]000 dh gkfu dh n”kk esa nkok djds us vk;k 

tk,xkA 

 (a) 12]000 :i;s (b) 15]000 :i;s 

 (c) 20]000 :i;s (d) buesa es dksbZ ughaA 

 

10. Indian company act contains the provision 

regarding of managing directors 

remuneration: 

 (a) Section 309 (b) Section 78 

 (c) Section 79 (d) Section 198 

 Hkkjrh; dEiuh vf/kfu;e esa izca/k lapkydksa ds 

ikjJfed dk izko/kku fuEu esa ls fdl /kkjk esa gS 

 (a) /kkjk 309 (b) /kkjk 78 

 (c) /kkjk 79  (d) /kkjk 198 

 

****** 


